BEAHAR)=F LB HEEHR k13
TS EARBOKE AR L5 M:_/I *)J
Moo HPPE ¢ 75 = 227.0 m
x5 2B 2 NI REA g | B | IER | AL | AERIER | BAAL [
N ERES EF % 45| A 5.00 | m 295.00 | m
25104 F 7N m m |BIIREE
3B Z N m m_|BIRY)E I E
HE G5 45 K 225.00 | m
4|EF 52 S~ R(H300) | ¢ 75 ES 0.90 | m 0.90 | m
5|EF Fsz UK 6 75(221/2° ) 3 K 0.38| m 1.14 | m
6|EFY b $ 75 1| A m m
Hh 2 55T 2.04] m
7| =i yy 7 (K) ® 75 IRE m m
8|PEfE O fFv 7 by —nitgl | ¢ 75 N m m
9 AW K 7yl 6 75X ¢ 75(HPPE) IS m m S T&A
ot (ME25) | ¢ 350 H900 1| m m
11 6350 H1200/H 1| #H m m
12|FA~—H— 8 i m m
13[EHRT—7 W=50mm 227 m m m
14 [ R Y — b PE400mm 227 m m m
m m
DA E m
it TAE 227.04 m
x5 B JRAE SIS TEIER | AL e
I5[RV=F LU E Mk L EE A et 225.0 | + 2.04] m 227.0 | m
16|EEHE T 10 ¢ 75 49| 7 AT
17 210 ¢ 75 1| #FT
18 fﬁ:ﬁ/w’ﬁ%ii é 75 Wi
19| FpaxiE 1| 7t
20| F B %I(P%zva—) $ 350 H900 1| #pr
21 ¢ 350 H12004 1| 7
221 —T 4TI A —iRiE T 2271 m
23| B~ — 7 L W=50mm 227 m
24| AR —h L W=400mm 227/ m
25| AR 7R R IIES
26| /KL T 0.5 H
el R %
i KERER T [ A F AN I I 0.45 H ]227.04/500




' &=
(im_FNj”) it 5 A | % m | we
AstIHr
1R 1A (454.08+0.6+0.6)+A1E [H (227.04+1.2+1.2) 684.7 680[m
AsHIEHY
R 1H(136.22)+ A48 [H (227.04%1.2) 408.7 409|m2
AsTEHK
1.=30.1km DT4t DID 1 [X 41 (48 I (136.2240.03) +A%78 [ (227.04%1.250.04) 15.0 15|m3
AsHLTy
(e IR PE 15.0%2.35 35.25 35t
e HI
BH0.28 143.0 140|m3
MR (1))
BH0.28 51.7 52|m3
MR (384 1)
BHO0.28 m3
W (A1)
BH0.28 47.7 48|m3
7% E
L=27.7km DT4t DID 1 [X 4 143.04 140|m3
i
7% 52 AHh 143.04 140|m3
T A T
t=0.20m RC40-0 136.2 136{m2
e A T
t=0.12m M-25 136.2 136|m2
A IR
t=0.03m FFEEAST3 LA 4 136.2 136|m2
N Eas
A A 227.04%1.2 272.4 272|m2
EI=AN
t=0.05m FEAs20F 77 ha—b  227.04%1.2 272.4 272|m2




TTHE BAAREEE
UIET | AsEif s HRE SHatig FEHINE AsEHEE iR EiE " BER
K6 | BE | AE | DR | AR o = ciL - = . RE R .
EH |AEE=E L) £+ | BE As HEAI 1 £+ | BE Iln Hyi® 1 x5+ | BA
B L m N t/m3 H H H H W w w w w m m2 Y, Y, Y, Y,
HPPE 227.04 0.04 2 2.35 1.05 0.39 0.35 0.60 0.60 0.60 060 45408 13622 143.04 53.13 47.68
B 227.04 45408 | 136.22| 143.04 53.13 47.68
& HPPE® 75 L= 22704 m 0.09 * 0.09 * 3.14 - 4 * 227.04 = 144 m3
5 144 m3
il 454,08 = 45408 m
izl 143.04 = 143.04 m3
w 53.13 - 1.44 = 51.69 m3
HET = m3
e 4768 = 47.68 m3
%t 143.04 = 143.04 m3
TE®ET 136.22 = 136.22 m2
FE®RET 136.22 = 136.22 m2
RIEIBT 136.22 = 136.22 m2




